

1 () をつかってくふうして計算をしましょう。

① $43 + 36 + 14 =$

② $56 + 43 + 27 =$

③ $15 + 54 + 26 =$

④ $12 + 25 + 35 =$

⑤ $64 + 22 + 48 =$

⑥ $71 + 38 + 52 =$

⑦ $45 + 14 + 36 =$

⑧ $27 + 77 + 13 =$

1 () をつかってくふうして計算をしましょう。

① $43 + 36 + 14 = 43 + (36 + 14) = 43 + 50 = 93$

② $56 + 43 + 27 = 56 + (43 + 27) = 56 + 70 = 126$

③ $15 + 54 + 26 = 15 + (54 + 26) = 15 + 80 = 95$

④ $12 + 25 + 35 = 12 + (25 + 35) = 12 + 60 = 72$

⑤ $64 + 22 + 48 = 64 + (22 + 48) = 64 + 70 = 134$

⑥ $71 + 38 + 52 = 71 + (38 + 52) = 71 + 90 = 161$

⑦ $45 + 14 + 36 = 45 + (14 + 36) = 45 + 50 = 95$

⑧ $27 + 77 + 13 = 27 + (77 + 13) = 27 + 90 = 117$